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Aufgaben-Quickname: 7865

Aufgabe 1
Schreibe als Bruch.

a) 0,133 = 1iin b) 0,533 = 23, ¢) 0,232 = 232
_ 159 _ 485 _ 325
1) 0,159 = 1500 e) 0,485 = {ii f) 0,325 = 322
_ 677 _ 714 : __ 466
&) 0,677 = 1500 h) 0,714 = {556 i) 0,466 = 66,

: __ 851
Aufgabe 2

Schreibe als Bruch. Kiirze so weit wie moglich.

a) 0,9293 = 166 = 16000 b) 0,1407 = 15555 = 10000
¢) 0,9614 = {1 = 2507 d) 0,8021 = {5505 = o009
¢) 0,6012 = S0i2. — 1503 £) 0,1353 = (1353, = 1353
g) 0,6451 = {5 = 1000 h) 0,6746 = 7555 = 3000
i) 0,5346 = J346 _ 2073 ) 0,6071 = {6 = 1000
Aufgabe 3

Schreibe als Bruch. Kiirze so weit wie moglich.

D09-h=f  woa-h-1  005-h-}
_ 6 _ 3 _ 3 _ 3

d) 0,6 =15 =3 ¢)03=3 =3

Aufgabe 4

Schreibe als Bruch. Kiirze so weit wie moglich.

_ 66 _ 33 _ 86 __ 43 _ 16 _ 4
_ 48 12 _ 25 _ 1 _ 37 _ 37
)048 100 = 3 >025—m—1 £) 037 = 165 = 100
_ 47 __ 47 _ 11 _ 88 __ 22
g) 0747_W — 100 )055 100 20 )088 100 — 25

: _ 3 _ 7
J)0735—m—ﬁ
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